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(%)

(BT #%)
o FHRHE TEHE
BS | %W %PR 25 | Bm | #=6 | BN

1 H24.4.12 400 21,200 1,100 1,100
2 0 32,400 1,600 1,600
3 500 48,400 1,600 1,600
4 200 36,800 1,400 1,400
5 H24.4.13 28,200 41,200 1,400 1,400
6 15,000 27,500 1,300 1,300
7 36,100 32,800 1,500 1,500
8 24,200 53,100 1,800 1,800
9 20,000 45,300 1,400 1,400
10 H24.4.16 24,200 29,200 1,300 1,300
11 24,000 45,100 900 900
12 21,100 33,800 1,200 1,200
13 32,000 44,800 1,700 1,700
14 (73] H24.4.17 40,000 40,700 1,800 1,800
15 B 28,100 41,100 2,100 2,100
16 5 36,400 65,400 3,000 3,000
17 E) 32,800 54,600 2,100 2,100
18 1 H24.4.18 20,000 40,900 1,000 1,000
19 R 28,000 49,000 1,600 1,600
20 52,100 40,800 1,200 1,200
21 28,300 64,800 1,100 1,100
22 16,000 48,800 1,000 1,000
23 20,000 36,600 1,100 1,100
24 28,100 44,500 1,200 1,200
25 24,100 32,500 900 900
26 H24.4.19 28,100 60,700 1,400 1,400
27 60,200| 113,300 1,300 1,300
28 28,300 64,600 1,600 1,600
29 H24.4.20 26,400 55,800 1,400 1,400
30 40,600 81,000 1,300 1,300
31 28,200 64,800 1,900 1,900
32 20,300 44,900 1,800 1,800
& &t 811,900| 1,536,400 47,000 47,000

33 H24.4.13 24,500 51,800 2,900 2,900
34 21,100 30,900 1,300 1,300
35 24,000 37,100 1,200 1,200
36 36,700 49,000 1,300 1,300
37 27,000 30,600 1,100 1,100
38 H24.4.16 21,000 24,600 900 900
39 21,300 30,800 900 900
40 28,100 33,200 1,500 1,500
41 33,200 45,800 1,200 1,200
42 22,000 27,700 1,000 1,000
43 28,100 29,800 1,700 1,700
44 32,000 48,800 1,300 1,300
45 32,100 49,000 1,300 1,300
46 32,700 49,400 1,800 1,800
47 H24.4.17 40,200 44,800 1,600 1,600
48 H24.4.18 28,000 68,700 900 900
49 * H24.4.19 20,000 52,700 1,200 1,200
50 5 20,400 76,800 1,700 1,700
51 ¥ 36,000 64,800 1,400 1,400
52 x 48,100 60,700 1,700 1,700
53 & 24,200 44,500 1,600 1,600
54 " 36,200 32,700 1,500 1,500
55 ) 24,700 76,900 1,900 1,900
56 28,000 48,900 1,400 1,400
57 20,100 40,300 1,100 1,100
58 H24.4.20 20,000 61,600 1,400 1,400
59 24,000 48,800 1,400 1,400
60 36,500 65,000 1,700 1,700
61 17,000 49,300 2,100 2,100
62 40,200 57,300 1,500 1,500
63 24,400 36,500 1,700 1,700
64 H24.4.23 44,300 72,700 1,400 1,400
65 32,400 57,000 1,600 1,600
66 36,000 40,600 1,600 1,600
67 H24.4.24 76,200 64,800 1,900 1,900
68 68,300 69,700 1,900 1,900
69 48,900 77,200 1,700 1,700
70 52,300 80,900 1,700 1,700
71 49,200 77,900 3,000 3,000
72 32,300 53,100 1,900 1,900
a & 1,311,700 2,062,700 61,900 61,900




(AL 2)

2 VESOwA
EE1 745028 1HE, F1595E2HE 1 5, F1765E2H

3 PR OFE O I

(1) EE17A45F02F1HOBREBIZED . YEKITA IR DI EE OFIT,
MR AT A R DB MRESE DB EX Y EEIR DL DIZONW T, HOLOHEA
2 & D YA MEROFRA T EOMEEN D, HODOREIC X 2 Y%A 5o
BT & OflhgE % PEBR L7244,

BE 1 OBIFRICEIT HFHEICHX

211>\ T

(1, 040 3 X 100 £E+1, 041 [ X 200 #k+1, 042 [ X400 ¥k +1, 043 [ X 200 £k
+1, 044 F§ X200 £)

— (1,042 3 X1, 000 £E+1, 045 [ X 100 ¥k)

=—100 [

FKemF 212251 T

(1,039 9 X 1, 400 ¥k +1, 040 [ X 200 £k)

— (1,036 FJ <600 ¥k+1, 037 9 X600 £k +1, 038 3 X200 £
+1, 040 F9 X200 ¥k)

=3,200 1

5 312HOWT

(1,039 F4 X100 #k+1, 040 FJ X700 & +1, 041 F§ X200 £+ 1, 042 F X600 ££)
— (1,039 9 X1, 400 Bk +1, 041 X100 #k+1, 043 F4 X 100 ££)

=2, 300 [

FF 42O T

(1, 046 200 BE+1, 047 F3 X800 £+ 1, 048 [ X200 £+ 1, 049 [ X200 ££)

— (1,046 [ X700 #k+1, 047 [ X300 #k+1, 048 [ X200 £+ 1, 049 [ X 100 £
+1, 050 [ X100 ¥k)

=400 M

B 51251 T



(1,061 F4 X400 ££+1, 062 X900 £k +1, 063 [ X 100 ££)
— (1,059 F X1, 100 #£+1, 060 F X200 #£+1, 063 F X100 #£)
=3, 300 [

FH 61OV T

(1, 064 9 X< 1, 300 #)

— (1,061 3 X700 #+1, 062 [ X500 #k+1, 065 [ X 100 ££)
=3, 000 [

Tl TITHOWNT
(1,070 9 X200 Bk+1, 071 FJ X400 ¥k+1, 072 X200 #E+1, 073 4 X600 £
+1, 074 [ X 100 #£)
— (1,067 9 X100 #k+1, 068 [ X 300 #k+1, 069 [ X400 K+ 1, 070 [ X400 £
+1,071 X100 ¥k+1, 072 [ X 100 #k+1, 073 [ X 100 #k)
=3, 700 [

2 8I2HOWNT
(1,046 X 1, 600 £E+1, 047 [ X 100 %+ 1, 048 [ X 100 ££)

— (1,042 [ X500 #k+1, 043 [ X900 ¥k +1, 044 [ X200 £E+1, 047 [ X 100 #£
+1, 050 F4 X 100 #)

=4, 900 [

FH9 12O T

(1, 040 FH X200 #E+1, 041 FH X1, 100 #&+1, 042 FH X 100 ¥£)
— (1,036 F X200 #£+1, 037 FH X900 £E+1, 038 FH X200 £+ 1, 040 F§ X 100 £k)
=5,200 1

FH10I1ZHoWT

(1,040 [ X 1, 300 #£)

— (1,036 [ X200 #k+1, 037 [ X 100 £k +1, 038 [ X500 #k+1, 039 [ X400 #£
+1, 040 F9 X100 ¥k)

=2, 500 M

#1125

(1,043 9 X600 K+ 1, 044 [ X200 #k+1, 046 9 X 100 KE)
— (1, 039 9 X300 #£+1, 040 [ X400 ¥E-+1, 043 [ X 100 £+ 1, 045 [ X 100 £k)
=2,700 [



K51 212501\

(1, 044 FH X200 #E+1, 045 FH X800 #&+1, 046 FH X 200 ££)
— (1, 042 F X500 #£+1, 043 FH X300 BE+1, 044 FH X300 £+ 1, 047 FH X 100 £k)
=2,200 14

Ke51 3o\ T

(1, 042 FH %1, 700 £k)
— (1,038 F9 X300 #£+1, 039 FH X900 #E+1, 040 FH X400 £+ 1, 044 FH X 100 £k)
=4,500

FH 142>\ T

(1, 043 4 X200 #&+1, 044 9 X 1,400 £k+1, 045 4 X200 ££)

— (1,035 [ X800 #£+1, 036 H X100 #&k+1, 038 F4 X300 £k+1, 039 4 <400 £
+1, 040 F4 X100 #£+1, 044 FH X 100 £k)

=12,200 M

Z5 1512201 T

(1,052 4 X2, 100 ££)

— (1,045 [ X1, 100 BE+1, 046 [ X 400 #k+1, 047 [ X 500
+1, 051 [ X100 &)

=12, 700

F51 61225\ T
(1, 027 P4 X300 BE+1, 028 FI X300 £+ 1, 030 I X100 £+ 1, 031 X300 £
+1,032 F9 X100 #k+1, 034 F4 X200 £&+1,035 [ X1, 100 £
+1, 036 F3 X600 £)
— (1,032 F9 X100 ¥k +1, 033 [ X900 Kk +1, 034 FI X600 #£
+1,035 [ X1, 100 ££+1, 037 F X 100 ££+1, 038 F X 200 ££)
=—4,200 M

F51 712250V T
(1,035 X1, 600 #+1, 036 [ X300 £+ 1, 038 [ X200 £%)

— (1,030 [ X100 #k+1, 031 [ X400 #£+1, 032 [ X300 £k + 1, 033 [ X500 ¥k
+1,034 F] X100 #k+1, 035 I X100 #£+1, 038 [ X100 £k + 1, 039 [ X 400 ¥k
+1, 040 9 X100 ¥k)

=2, 600 M



Ke518lco>W\WT

(1, 044 FH X600 #k+1, 045 [ X400 ££)
— (1,039 9 X200 #£+1, 040 FH X200 B+ 1, 041 FH X300 £+ 1, 042 4 X300 £k)
=3,700 4

K51 9lcoW\WT

(1,038 FH X200 #E+1, 039 FH X900 £+ 1, 040 FH X200 #£+1, 041 H X300 £k)
— (1,040 9 X300 #£+1, 041 FH X200 B+ 1, 042 FH X 300 £+ 1, 043 F§ X800 £k)
=—4,200 1

FH2 0122\ T
(1,036 F4 X200 #£+1, 037 4 X100 £k+1, 038 FJ X800 £+ 1, 039 4 X 100 ££)
— (1,034 [ X700 #£+1, 035 4 X100 #&k+1, 036 <200 £k+1, 039 4 X 100 £
+1, 040 FH X 100 £k)
=2,800 14

EK52 115N T

(1, 043 9 X300 £E+1, 044 [ X 300 #k+1, 045 [ X 200 Kk +1, 046 [ X 200 £k
+1, 047 F X100 £k)

— (1,043 [ X1, 100 ££)

=1, 700 [

F72 2125\ T

(1,046 F3 X200 £k+1, 047 F3 X400 £k 41, 048 F X 400 ££)
— (1,043 [ <100 £ +1, 044 4 X600 £k +1, 045 [ X300 ££)
=3, 000 [

FK72 31O T

(1,053 [ X1, 100 ££)

— (1,047 9 X500 £k +1, 048 [ X400 £k +1, 049 [ X200 ££)
=5, 800 1]

F7 2 412250 T
(1,057 [ X300 £k+1, 058 [ X 900 £k)

— (1,055 [ X100 #k+1, 056 [ X700 #£+1, 057 [ X200 £k + 1, 058 [ X 100 ¥k
+1, 059 3 X100 ¥k)



=1, 500 [

K52 51225\

(1, 058 FH X400 £k +1, 059 4 X400 £+ 1, 060 FH X 100 ££)
— (1,058 HH X500 £k+1, 059 FH X300 £+ 1, 061 FH X 100 £k)
—0 [

F52 6122\ T
(1,047 [ X200 #E+1, 049 [ X 200 £E+1, 050 [ X800 £E+1, 051 [ X 100 £
+1, 053 F4 X 100 #£)
— (1, 047 9 X 700 ¥k +1, 048 [ X 300 £E+1, 049 [ X 300 #k+1, 053 [ X 100 £k)
=2, 300 [

B2 TIZOWT
(1, 049 F X200 ££+1, 050 4 X800 #k+1, 051 FJ X300 £F)

— (1,046 4 X100 #£+1, 047 FH X300 #&k+1, 048 3 X200 £k +1, 049 4 X200 £
+1, 050 4 X300 #£+1, 054 [ X200 £k)

=1,200 4

Hm 2 8O\ T

(1, 043 X900 £E+1, 044 [ X 300 £+ 1, 045 [ X 300 Fk+1, 047 [ X 100 £k)
— (1,043 [ X100 £k +1, 044 4 X 100 £k +1, 045 [ X 1, 000 ¥k

+1, 046 4 X400 ¥k)
=—2,000 [1

FmH2 91251 T

(1,041 FH X400 BE+1, 042 F§ X400 #&+1, 043 5 X400 £E+1, 044 FH X200 £k)
— (1,037 F3 X200 #£+1, 038 FH X500 £E+1, 039 FH X600 £:+1, 041 F§ X 100 £k)
=5,300 14

K53 0IZDONWT

(1,048 F X 100 £k 41, 049 F X600 ££+41, 050 FJ X 300 £+ 1, 051 F X 100 £k
+1, 052 4 X200 ¥k)

— (1,045 F X 200 £k +1, 046 [ X 200 Kk +1, 047 F3 X300 #+1, 048 F X 300 £k
+1, 049 F§ X 300 ££)

=3, 300 1



%53 1125V T
(1,036 [ X 100 #E+1, 038 [ X 100 £E+1, 039 [ X 800 £E+1, 040 [ X 900 £F)
— (1,039 [ X800 k41, 040 [ X600 £E+1, 041 [ X200 £E+1, 042 I X 100 £
+1, 043 F4 X 200 #)
=—1,600 [

FH 32122V T
(1,041 FH X300 #E+1, 042 FH X300 #&+1, 043 FH X 1, 200 ££)

— (1,039 4 X100 #£+1, 040 [ X300 #&k+1, 041 3 X600 £k+1, 042 I X600 £
+1, 044 4 X100 #&+1, 045 5 X 100 £k)

=1,900 H

%53 31OV T
(1,938 1 X 100 £E+1, 939 9 X 700 K+ 1,940 [ X 1, 100 £
+1,940. 1 3 X 100 #k+1, 941 [ X900 #k)
— (1,935 3 X600 #k+1, 936 [ X400 #k+1, 937 [ X300 £E+1, 940 [ X 600 #£
+1,940. 5 [ X 100 £+ 1, 941 4 X600 #%+ 1, 942 [ X 200 £
+1, 943 [ X 100 ££)
=4, 160 [

Hm 3 4125 T
(1,936 9 X100 ¥k+1, 939 [ X200 Kk+1,939. 1 [ X 100 Kk
+1,939. 2 F4 X400 ££+1, 939. 3 F4 X100 £k +1, 940 FJ X 200 £k
+1,940. 1 [ X 100 £k +1, 940. 2 9 X 100 ¥k)
— (1,930 [ X400 #£+1, 931 [ X100 #k+1, 933 [ X200 #k+1, 935 [ X 500 #£
+1, 940 F X100 ¥k)
=7, 750 [

K53 51O T

(1,930 9 X200 ¥k+1, 931 [ X300 Kk+1,931. 1 [ X200 Kk
+1,931. 2 [ X500 £R)

— (1,922 [ X100 #k+1, 923 [ X300 #£+1, 924 [ X400 £k +1, 925 [ X 200 ¥k
+1,925.9 9 X100 £k +1, 932 4 X 100 ££)

=7,630 [

#5336 122V T
(1,936 F X300 #k+1,936. 1 X100 #k+1, 937 FH X200 B+ 1, 938 F§ X400 £k

_9_



+1,938.1 [ X100 £+ 1, 939 [ X 200 ££)

— (1,931.9 [ X100 BE+1, 932 [ X 400 £+ 1, 933 7 X 200 £
+1, 935 [ X200 Bk +1, 935. 6 [ X 100 &+ 1, 937 [ X 100 ik
+1, 938 [ X 200 #)

=4,170 [

FH 3 TIZOWNT

(1,923 F %1, 000 #&+1,924 4 X100 ££)
— (1,920 4 %1, 000 #&+1, 924 9 X100 £k)
=3,000 4

FH 38OV T

(1,910 FH X100 #E+1,910.7 X100 #£+1, 911 [ X400 £k

+1,911. 1 H X300 )
— (1,905 FJ X300 BE+1, 906 FH X300 #&+1, 907 FJ X200 #£+1, 910 4 X 100 £k)
=4,100 H

FH 391>\ T
(1,913 H X600 #+1,913. 1 X100 #&+1, 914 FH X200 ££)
— (1,909 F X< 100 #&+1,910 4 X100 £k+1,910.9 4 X100 £
+1,911 H X100 #k+1,912.9 X100 41, 913 H X400 £k)
=1,330 M

F74 0ZoONWT

(1,917. 1 F3 X100 £k 41, 917. 2 F X 100 £k 41, 918 FJ X 800 ¥k
+1,918.1 9 X300 £+1, 918. 2 [ X200 ¥k)

— (1,911 X100 #£+1,911.9 F X200 £&+1, 912 [ X 1, 100 ££
+1,913 F X100 ¥k)

=8, 920 [

F74 11O T
(1,922 F X500 #k+1, 922. 1 F X200 #k+1, 922. 2 FJ X 200 ¥k
+1,923 4200 ¥k+1, 924 X 100 ££)

— (1,916 [ X400 £k+1, 917 4 X 100 £k +1, 917. 8 [ X 200 ¥k
+1,917.9 [ X100 £k +1, 918 4 X400 ££)

=6,210 [

_10_



FeH 422501 TC
(1,932 FH X500 #E+1,932. 1 FH X300 #&+1, 933 FH X200 ££)
— (1,928.9 X100 #&+1,929 X600 £E+1,930 [ X100 £t
+1,930.8 X100 #k+1, 931 X100 £k)
=2,760 H

FH4 31221 T
(1,925 FH X1, 500 #k+1,925. 1 X100 ££+1, 925. 2 FH X 100 £k)

— (1,919 F X200 #£+1, 919.9 X300 £k +1, 920 4 X200 £
+1,921 F X300 #&k+1, 922 3 X200 £E+1, 923 [ X100 £
+1,923.7 X100 #&+1, 926 3 X300 £)

=5,590 H

H54 41250 T

(1,924 X 1,100 Bk +1, 924. 1 [ X 200 £k)

— (1,917 [ X500 #k+1,917.9 [ X 100 #+1, 918 [ X600 ¥k
+1,919 F X100 ¥)

=8, 230 [

Fm4 512251 T
(1,918 [ X 100 #E+1, 920 [I X900 #E+1, 920. 1 [ X200 #f
+1, 920. 8 [ X 100 £k)
— (1,912 F4 X 100 #&+1, 913 F4 X600 £ +1,913. 9 [ X 100 £k
+1, 914 3 X300 #+1, 920 [ X100 #&+1, 922 [ X 100 ££)
=7,110 [

T4 61251V T

(1,919 F3 X100 BE+1, 920 FI X500 £+ 1, 922 [ X200 £+ 1, 923 X300 #£
+1, 924 4 X500 ¥k+1, 925 F X 200 )

— (1,917 X 1,000 #k+1,917.9 4 X200 #k+1, 918 FJ X 600 ¥k)

=8, 820 M

F74 72O T
(1,938 F 1,000 #k+1,938. 1 [ X100 £k+1, 938. 4 [ X 100 £k
+1, 940 9 X 400 ¥k)

— (1,935 [ X700 £k +1, 936 [ X600 £k +1, 937. 9 F X 100 ¥k
+1, 938 4 X100 ¥k+1, 939 F X 100 ££)

_11_



=4, 060 [

K54 82>\ T

(1,966 FH X500 £+1, 967 FH <300 #&+1, 968 FH X 100 ££)
— (1,963 H X100 #k+1, 964 FH X300 £E+1, 968 FH X 500 £k)
=400 HH

FH4 912>\ T
(1,957 FH X800 #k+1,957. 1 F X200 ££+1, 958. 1 FH X200 £k)
— (1,954 4 X600 ££+1, 955 4 X 100 £k+1, 955. 8 F§ X 100 £
+1,955.9 [ X100 #k+1, 956 3 X200 #k+1, 957 [ <100 &)
=2,670 H

%55 0122\ T
(1,941 [ X300 £+ 1,942 [ X 400 K+ 1, 943 [ X 100 £
+1,943. 1 [ X200 #k+1,943. 6 I X 100 #k+1, 944 [ X 200 ¥k
+1,944. 4 9 X 100 #:+1, 945 [ X 100 &+ 1, 945. 1 [ X 100
+1, 946 [ X 100 ££)

— (1,935.9 [ X100 £E+1, 936.9 [ X 100 £k +1, 937 [ X 600 #£
+1,937.9 [ X 100 £+ 1, 938 [ X400 £+ 1, 942 [ X 200 £
+1,946 [ X100 #k+1, 947 3 X 100 ££)

=17, 060 [

K55 11O\ T

(1,941 F X900 #£+1,941. 1 [ X400 #£+1, 943 [ X 100 £k)

— (1,936 F X200 #£+1, 936. 8 FI X 100 ££+1, 936. 9 F X 300 ££
+1,937 [ X700 ¥k 41, 943 F X 100 k)

=5, 490 M

K55 21O\ T
(1,933 F4 X100 #k+1, 935 FJ X400 £+ 1, 936 F X 400
+1,936. 1 F X500 #£+1,936.5 F X100 ££+1, 936. 9 F X 100 ££
+1, 937 [ X100 ¥k)

— (1,929 9 <300 £k+1,929. 9 [ X100 Kk+1, 930 4 X900 ¥k
+1,930.9 F3 X100 #£+1, 931 X100 #&+1,931. 9 [ X 100 #££
+1, 938 [ X100 ¥k)

=8, 920 [

_12_



FHD5 31OV T
(1,933 F % 1,500 #&+1,933. 7 F3 X100 £k)
— (1,930 HH X100 £k+1, 930. 8 FH X300 #£+1, 930. 9 4 X400 £k
+1, 931 X500 #&+1,932 F3 X100 £+ 1, 935 4 X200 ££)
=2,570 H

FHD5 42OV T

(1,936 FH X600 #£+1,936. 1 X100 #&+1, 936. 4 FH X 100 £k
+1, 937 FH X600 #&+1,937. 4 F3 X100 £k)

— (1,930.9 X200 #&+1,931 X800 #£k+1, 932 4 X400 £
+1, 938 HH X 100 £k)

=7,210 4

FHD5 5OV T
(1,934 F X100 ££+1, 935 F X400 £k+1, 936 F3 X100 £+ 1, 938 [ X400 £
+1,938. 1 F X100 ££+1, 939 H X800 £k)

— (1,935 F X300 #&+1,935.9 X200 £k+1, 936 [ X900 £
41,937 [ X200 #£+1, 940 [ X200 #k+1, 941. 8 FI X 100 £F)

=1,550 14

K55 612D\ T
(1,938 X1, 000 #£+1,938. 1 4 X300 #£+1, 938. 6 [ X100 ££)
— (1,935 9 <200 £k +1, 935. 9 1 X 100 ¥k+1, 936 [ X 500 ¥k
+1, 937 [ X500 Kk+1, 940 [ X 100 ¥k)
=2, 200 [

FK55 72O T
(1,931 F4 X700 #k+1,931. 1 F4 X200 #&+1, 931. 7 P X 100 ¥k
+1, 932 [ X100 ¥k)

— (1,927 9 <200 £k+1, 928. 9 I X200 ¥k+1, 929 [ X 400 ¥k
+1,933 [ X100 ¥k+1, 934 X200 ££)

=1,410 [

#5555 8lZHWNT
(1,943 9 X400 £+ 1, 944 [ X400 #k+1, 946 9 X 600 KE)
— (1,936 [ X100 #k+1,937 I X800 #k+1, 937. 4 I X 100 ¥k

_13_



+1, 938 F X200 #£+1, 940 F X100 £k +1, 945 FJ X 100 ££)
=9, 360 [

K55 9o\ T

(1,942 FH X1, 100 #k+1, 942. 1 F3 X200 #£+1,943. 1 FH X100 £k)
— (1,936.9 H <200 #£+1, 937 FH X1, 000 £k+1, 938 1§ X200 ££)
=6,950

FH6 02OV T
(1,939 FH X300 #E+1,939. 1 F§ X100 #£+1, 940 FH X 100 £k
+1, 940. 3 F X100 #&k+1, 941 3 X200 £k+1, 942 4 X300 £
41,943 FH X100 £k+1, 943. 1 FH X300 #E+1, 944 FH X200 £k)

— (1,937 F X400 #&£+1,937.9 X300 £k+1, 938 [ X500 £
41,939 [ X100 #£+1, 940 [ X200 #&+1, 941. 3 [ X 100 £k
+1, 945 H X 100 £k)

=4,770 H

%56 112N T
(1,945 X100 #k+1,945. 1 [ X 100 #E+1, 945. 2 [ X 200 £k
+1,946 [ X700 #E+1, 946. 1 3 X200 ¥k+1, 946. 2 [ X 100 #£
+1, 947 F4 X400 #£+1, 949 [ X 300 ¥k)

— (1,943.9 A X100 £E+1, 944 F X700 ££+1, 944. 9 F X 200 £k
+1, 945 [ X300 #£+1, 946 [ X 100 BE+1, 947 [ X100 £k
+1,947. 2 F3 X 100 £+ 1, 948 [ X100 #&+1, 949. 9 [ X 100 #£
+1, 950 [ X300 ¥k)

=1,110 [

K76 2125\ T
(1,944 P X600 #k+1, 944. 1 P X 100 ¥k +1, 944. 2 P X 100 ¥k
+1,945 [ X 100 £k +1, 946 F4 X 300 £k+1, 946. 1 4 X 200 £k
+1, 947 F X100 ¥k)

— (1,937 [ X300 £k +1, 938 4 X 100 £k +1, 938. 9 F4 X 300 ¥k
+1, 939 9 X400 #k+1, 940 F9 X 300 #k+1, 946. 6 9 X 100 ¥k)

=8, 620 [

FHH56 31221 T
(1,939 FH X300 #E+1,939.5 [ X100 #£+1, 940 FH X 400 £k
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+1,940. 1 [ X200 #£+1, 941 [ X700 ££)

— (1,939 [ X 100 #k+1, 940 [ X600 #+1, 940. 6 [ X 100 £
+1, 941 F4 X900 #)

=—490 [

FH6 42OV T

(1,973 P9 X800 #k+1,974 F X 100 £k +1, 975 [ X400 £+ 1, 975. 6 4 X 100 £§)
— (1,972 F X300 #£+1,972. 8 F4 X100 £k +1, 973 4 X600 £

+1,976 4 X100 #&+1, 978 FI X100 #E+1, 979 4 X200 ££)
=—520 4

%56 5122V T
(1,947 FI X 1, 400 £ +1,947. 1 3 X 100 &+ 1, 949 [ X 100 #)

— (1,939 9 X 100 #:+1, 940 [ X400 £+ 1, 940. 9 [ X 100 4%
+1,941 [ X400 BE+1, 942 [ X 100 Fk+1, 943 [ X 200 £E+1, 944 [ X 200 kk
+1,948. 6 [ X 100 £R)

=8, 560 [

H756 612D\ T
(1,958 X 1,200 #k+1, 958. 1 [ X300 ¥k+1, 959 [ X 100 £k)

— (1,953 F9 X100 ¥k+1, 954 [ X400 Bk+1,954. 9 [ X 100 Kk
+1, 955 A X300 #£+1, 956. 9 F X 100 ££+1, 957 F X 200 ££
+1, 958 4 X 400 ¥k)

=3, 750 [

FK76 72O T
(1,934 P X600 #k+1, 934. 1 F X200 #k+1, 934. 2 FJ X 300 ¥k
+1,934. 3 4 X200 £k +1, 934. 7 F9 X100 £k +1, 935 F4 X 300 £k
+1, 938 F3 X200 ¥k)
— (1,924 9 <300 £k+1, 924. 9 1 X100 Kk+1, 925 [ X 300 ¥k
+1,926 F X400 ££+1, 927 F X 100 £ +1, 929 X200 £k +1, 931 FJ X 300 £k
+1,932 [ X100 ¥k+1, 937.9 4 X100 ££)
=13, 530 [

FHH56 81D\ T
(1,932 FH X600 #E+1,932. 1 X100 £&+1, 932. 2 FH X200 £k
+1,932. 3 FH X200 #k+1,932. 8 4 X100 #E+1, 933 F§ X500 £k
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+1,933. 1 [ X100 #k+1, 933. 2 1§ X100 £k)
— (1,918. 8 F4 X100 #E+1, 919 4 X100 #E+1, 919. 8 F§ X 200 #£

+1,919.9 F X100 #££+1, 921 X 100 £ +1, 922 [ X 100 #£

+1,922.9 X300 #£+1, 923 X 100 £ +1, 924 [ X 100 #£

+1,925 F X100 #k+1, 926 F X400 #k+1, 927 F X 100 £k +1, 933 [ X 100 ££)
=17, 220 [

F56 9I1ZDONT
(1,937 [ X 300 £+ 1, 938 [ X200 #k+1, 939 [ X400 #k+1, 939. 1 [ X 200 #f
+1,940 [ X 100 Bk +1, 940. 8 [ X 100 &+ 1, 941 [ X 300 ik
+1,941. 1 4 X 100 ¥k)
— (1,928 [ X100 #£+1, 928. 8 [1] X 200 ¥k+1, 929 [ X 100 ¥k
+1,929. 7 [ X 100 £ +1, 929. 8 [ X 100 &+ 1, 929. 9 [ X 300 £
+1, 930 [ X300 #k+1, 931 [ X 100 £E+1, 932 [ X 200 #k
+1,938.9 [ X100 #+1, 942 [ X 100 #£)
=13, 640 [

Hm 7 0lZDOWNWT
(1,923 9 X500 £+ 1, 925 [ X800 £k+1, 926 J X 200 #k+1, 926. 2 [ X 100 £
+1, 926. 3 F4 X 100 ¥k)

— (1,912 9 X100 Bk+1, 913 [ X100 #E+1, 914 9 X100 £&+1, 915 FJ X 200 ¥k
+1,916 [ X200 #£+1,917. 7 F1 X100 #£+1,917. 9 X200 £
+1, 918 4 X600 ¥k+1, 929 1 X 100 k)

=12, 800 M

F7 7 1I2ONWT
(1, 928 F4 X600 #&+1, 929 4 X400 ££+1, 930 F X700 ££+1, 930. 1 F X 100 #£
+1,931 [ X800 #£+1,931. 1 F X100 ££+1, 932 F X200 ££
+1,932. 1 4 X100 £§)
— (1,923.9 M X100 Kk+1, 924 [ X400 ¥k+1, 925 [ X 100 ¥k
+1, 926 X200 #k+1, 928 [ X 700 £k+1, 928. 9 F X 200 £
+1,929 A X400 ££+1,929. 6 F X 100 ££+1, 930 [ X 300 ££
+1,931 F9 X100 #k+1,934 F4 X100 £k+1,934. 7 F4 X 100 £k
+1, 935 [ X200 ¥k)
=4, 330 [

s T 212250 T
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(1,924 9 X200 £E+1, 925 [ X 1, 100 BE+1, 927 [ X 500 #f
+1,927. 1 4 X 100 ¥k)

— (1,920 [ X 100 #E+1,920. 9 [ X 100 #k+1, 921 [ X 300 ¥k
+1,921.9 [ X200 #k+1, 922 [ X800 #E+1, 923 [ X 300 #£
+1, 928 4 X 100 #)

=6, 440 [

(2) EEI1T6RE2HOHTEIZLY, Fit () TENENHE LD 1 FHR
T D E A BT, 60,000 & 725,
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